agonal cross lines on the remaining blank pages.

Important Note : 1. On completing your answers, compulsorily draw di

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Note: Answer any FIVE full questtons, choosmg ONE full question from each module.

, Module-l Sy
Discuss in detail the history of file structures design. (10 Marks)
With syntax, explain read( ), write(') and seek( ) functions. (10 Marks)
: OR
Discuss the methods for organizing the records of a file. (10 Marks)
What are the strength and weakness of CD ROM? Explain in detail. (10 Marks)
Module-2
Define data comp1ess1on Discuss in detail different techniques available for compressing
data, o (10 Marks)
Hlustrate: deletmg fixed length records for reclaiming space dynamically using linked lists
and stack g, (10 Marks)
OR :
Ilustrate simple index for entry-sequenced file. . (10 Marks)
List and explain the operatlons required to mamtam an'index file. . (10 Marks)
\ Module—3 |
What is consequentlal processing? Wnte a C++ program snlppets for consequential
matching and merging with an example. (10 Marks)
Apply K-way merge technique for mergmg large number of lists. Demonstrate with an
example. . (10 Marks)
; OR ;
Write short notes on : (i) AVL trees (ii) Paged Binary tree (10 Marks)
Write the formal definition. of B-tree properties. Discuss the three situations that can occur
durlng B-tree deletion w1th example g e (10 Marks)
Module—4
'Illustrate block sphttmg and mergmg due to insertion and deletion in the sequence set.
(10 Marks)
Discuss loading a simple prefix BY trpe‘ w1th diagrams. (10 Marks)
' , OR
Compare and contrast B-tree, B" tree and B* trees. (08 Marks)
Explain adding simple index to the sequence set. (12 Marks)
Module-35
Define hashing. Illustrate simple hashing algorithm. (10 Marks)
Discuss some other hashing methods. (10 Marks)
: OR
Explain how collision resolution by progressive overflow works with example. (10 Marks)
Explain linear hashing with example. (10 Marks)
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